“THE MOOSE AND THE SPARROW”
1. The terms “pay cheater” and “rig slinger” are both examples of:

a. hyperbole

b. cliché

c. jargon

d. metaphor

2. The word “fruitless” in paragraph 3 means:

a. mean

b. helpful

c. purposeless

d. full of vegetables

3. When Moose asks, “What school d’ys go to?”, the author is indicating:

a. Moose’s curiousity.

b. Moose’s lack of education.

c. Moose’s mean nature.

d. Moose’s sense of humour.

4. Cecil puts up with Madden’s pranks because:

a. He is good natured and doesn’t mind them.

b. He wants to prove himself a great lumberjack.

c. He needs his job so he can go to university.

d. He actually enjoys the good natured tricks.

5. This story is told from which literary point of view?

a. First person

b. Third person/objective

c. Limited Omniscient

d. Omniscient.

6. Which of the following is NOT ironic in this story?

a. The strong Moose died; the frail Sparrow lived.

b. Everyone thought Moose fell into the ravine; Sparrow actually set a trap for him.

c. Sparrow made a watch strap for the narrator

d. Cecil saying he still has twenty-five feet of wire left and it will be “enough for what [he] has in mind”.

7. The attitude of the narrator toward Cecil at the end is one of:

a. Shock and horror.

b. Apathy .

c. Quiet admiration.

d. Warm friendship.

